CRASS BOTTOM—=LIP MOUNT DRAWER SLIDE INSTALLATION

| Take CABINET MEMBER ond bend baock
of slide ot 90 degree angle as
shown. Insert nylen tabs that ore
on the end of the drower slide
into the pre—drilled holes in the
cobinet BACK.

2. Attach the bottom lip maunt
drawer slide to the DRAWER SIDES.
The drawer is now ready for
operation.

NOTES:
1 The drawer slides should be mounted
after the DRAWER BOX is assembled.
3. Pull drower member {rofler end)
out 1/2" past end of box for the
following cabinets:
— planning desk
— top drawer of the planning desk

_,--"'. 2 _,.-""J »

FRONT -~

BOTTOM LIP -~
DRAWER SLIDE




m\*@g_ UNDERMOUNT

DRAWER SLIDE INSTALLATION

CABIMET ASSEMBLY

1 Meount REAR BOOT on end of CABINET MEMBER.
Insert tabs on the back of the REAR BQOT into the
pre—drilled holes in the CABINET BACK.

2 Fasien the CABINET MEMBER to the FRONT
FRAME using the screws provided.

NOTE: For cabinets with non=—averlay drawer fronis,
install o 3/4" thick block behind FRONT FRAME and
mount CABINET MEMBER to block.

3. Secure REAR BOO0T to CABINET gACK using the
screws provided.

CABINET BACK -

DRAWER ASSEMBLY

1. The DRAWER MEMBERS should be mounted after
the DRAWER BOX is gssembled.

NOTE; Back of DRAWER BOX must be notched
before attaching DRAWER MEMBER.

7. Place the DRAWER MEMBER onto the bottom of
the box and press TEETH firmly into bottom groove.
The front of the DRAWER WMEMBER should be flush
with the frant of the DRAWER BOX, Fosten the slide
to the DRAWER BOX using 7 screws as shown.

3/8" Flat Heod Screw FLUSH

DRAWER MEMBERS

- 5/8" Pan Heod Screw
DRAWER BOX

1=3 /167 WIN

TEETH

CABINET MEMBER

FRONT FRAME <~

1

_~REAR BOOT




" DYNASLIDE INSTALLATION for

WALL CABINE TS

DEAWER BOX ASSEMBLY

1. Drill 1/16" Dia pilot holes to gccept DRAWER
RUNNER os shown. NOTE: These dimensions are for
overlay drawer fronts only. Move holes closer to front
for drawer fronts with rabbeted lip or inset fronts.
Move holes front eguol to the size of the offset.

2. Remove the DRAWER MEMBER from the slide
assembly by depressing the block lever.

3. Fasten the DRAWER MEMBER to the DRAWER BOX

using the 1/2" round head screws provided.

5 7/8 i
A 2 3/8 44—
r /
E I

Pra=drill 1/16" Dia holes 1/4" Desp

DRAWER MEMBER -

__.-v"'f’// --.-""' ‘-u‘x:\ 5
Py i
e ,Aﬁ e M:‘
4 -‘:_...-r""f i N H"s.:"-‘
-~ - %
I .f'/ e }
- - -
Mi e
Rt o )
2 : 3

b3
"~ DRAWER BOX

1,27 SCREW

—~ MOUNTING CLEAT

CABINET ASSEMBLY

1. Place MOUNTING CLEAT inside cabinet. The

botiom edge of the MOUNTING CLEAT should

be positioned flush with the top edge of the

fraont frame RAIL and tight against the froent

frame STILE.

2. Using @ 1/16" drill bit, pre—drill two holes

inta the cabinet side using the MOUNMTING

CLEAT as o guide,

3. Mount the CABIMNET MEMBER and WMOCUNTING
1o I,-'q_"

PRgE T8




frant edge tight against the FRONT I;} _
FRAME. Mount CABINET MEMBER to g

DRAWER CLEAT. B
> Attach DRAWER MEMBER 1o DRAWER

BOX.

-
1 Mount DRAWER CLEAT to SIDE with the ,// e DRAWER CLEAT

CABINET MEM BER

SIDE —

DRAWER BOX /
\Q ,f ﬁ i
= i \\a !

e

Pry

P
N

Page T—4



& 3 DRAWER SLIDE INSTALLA TION

)
=
3
5
J
I
N
|'—I—|
)

,x"f/f/&H“x
g
1. Mount DRAWER CLEAT to SIDE so that ,f}jj,// P
DRAWER MEMBER can be attached with wijﬁ;”' .
ccrews. It is recommended that the i g
DRAWER CLEAT be glued to the cabinet g e
SIDE. Mount CABINET MEMBER to DRAWER ,//
CLEAT. -
5 Attach DRAWER MEMBER to DRAWER
BOX.

CABINET MEMBER

r //\\\

e
‘“x__‘:“-t =

S

DRAWER MEMBER

Page 7-5




LATERAL FILE 2 DRAWER SLIDE INSTALLATION

t. Mount DRAWER CLEATS to SIDE
50 that DRAWER MEMBER can be
attached with screws. It is
recommended thot the DRAWER
CLEAT be glued to the cabinet
SIDE. One set of CLEATS should
be mounted tight agaoinst inside
of FRONT FRAME. Pasition the
second set approximately 14"
behind the back of the FRONT
FRAME.

g ] 4 I/
e T
FRONT FRAME ;ﬁﬁﬁﬁﬁjﬁi:'
#-____,-'f_,/
/f’//// Page 7-6




| ATERAL FILE 2 DRAWER SLIDE INSTALLATION (cont.)

2. Mount CABINET MEMBER to DRAWER CLEATS.
Refer to instructions in slide pockage for specific
placement information.

3. Mount DRAWER MEMBER to DRAWER BOX.

4, Cut COMMECTING ROD to lengih as specified by
slide manufocturer and install between CABINET
MEMBERS,

5, For additional instaliotion and adjustment
instructions see manufacture’s instructions

supplied with slide pock.
AT
//f h

DRAWEE BOX ~_-~
-

e / \ ,,

.4
DRAWER e
MEMBER = -
il




MEPeR.

UNDERMOUNT DRAWER SLIDE

INSTALLATION

INSET

alft>»

CABINET ASSEMBLY

1. Meunt REAR BOOT on end of CABINET MEMBER.
Insert tobs on the beck of the REAR BOOT into the
pre=drilled holes in the CABINET BACK.

2. Fasten the CABINET MEMBER to the FRONT
FRAME using the screws provided.

MOTE: For cabinets with non—overlay drawer fronts,
install o 3/4" thick SPACER behind FRONT FRAME
and meount CABINET MEMBER to block,

3. Secure REAR BOOT to CABINET BACK using the
serews provided.

DERAWER ASSEMBLY
1. The DEAWER MEMBERS should be mounted after

f"
the DRAWER BOX is assemnbled. s it J‘
MOTE; Bock of DRAWER BOX must be notched FRONT FRAME for ™. ,,;j,, N
before attaching DRAWER MEMBER. inset g, 22 G
Z. Floce the DRAWER MEMBER onto the bottom of g\ f,x;i-' ,,/
the box and press TEETH firmly into bottom groove. . 2
The front of the DRAWER MEMBER should be flush N
with the front of the DRAWER BOX. Fasten the slide &
to the DRAWER HOX using Z screws as shown
3/8" Flot Head Screw - - FLUSH 2
\\ - - T
:  tCr . W,
A - JORAWER MEMBERS e
Il [l i
o e S -.
P e
o
= _ e 3
ks
- -~ -
‘::?Q;.:f jr e
M“*“x FRONT FRAME - e
; 4 S //}K, .
- "
S——— 'M.RH. _+5/8" Pan Heod Screw f_f":;f-___f'z
: =
1-3/16" rmlm\_)'\ ]

TEETH

CABINET BACK \\ - REAR BOOT

il
X

L i H‘ \\ﬁ
o o
CABINET MEMBER f ;

5/8" Flat Head Screws

|_-3/4” SPACER

(for Inset Only)



